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Problem | = Evaluate the transfer function of a linear system‘ represented bv the block
diagram shown in Fig. P2.14.
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Figure P2.14

Problem 2.

1) Determine the overall amplitude response of the cascade connection shown in P2..3
consisting of NV identical stages, each with a time constant RC equal to t,,.

tby Show that as N approaches infinity. the amplitude response ol the cascade connection
approaches the Gaussian function exp(—%_/'zT:). where for each value of N. the time
constant ty is selected so that
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Figure P2.15
; Problem = - Determine the pre-envelope g4(1) corresponding to each of the following two
J signals: P
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